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Il Semester B.Com. Examination, May 2016
(CBCS) (Freshers + Repeaters) (2014-15 and Onwards)
COMMERCE
Paper — 2.6 : Quantitative Analysis for Business Decisions - |

Time : 3 Hours Max. Marks : 70

Instruction: Answer should be written either completely in English or
Kannada.

SECTION —A

Answer any five sub-questions. Each sub-question carries two marks. (5%2=10)
1. a) Whatis Tabulation ?

b) Mention any four types of statistical averages.

c¢) List any four methods of studying variation.

d) Mention two methods of measuring Consumer Price Index.

e) What is meant by skewness ?

f) If X =12, Z = 13 find Median.

g) Mention any two functions of statistics.

SECTION-B
Answer any three of the following. Each question carries six marks. (3%6=18)
2. Calculate Median from the following data :
Marks : 50 40 30 20 10
Frequency: 10 40 20 12 16

3. Which company has greater variability of salary ?
Company X’ Company ‘Y’

No. of employees : 250 200
Standard Deviation : 500 600
Average monthly salary (X): 20,000 25,000

4. a) Find X if CV = 40%, S.D. = 12. |
b) Find Co-efficient of Mean Deviation, if X = 120 and M.D. = 12.
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. 5. From the following data compute Quartile Deviation (QD) and its co-efficient.

Marks : 1020 20-30 3040  40-50 50-60
No of students : 15 18 20 e 6
6. Calculate SD from the following :
Size : 25 35 45 55 65 75
Frequency : 28 38 50 45 40 20
SECTION-C
Answer any three questions. Each question carries fourteen marks. (3x14=42)

7. From the following compute coefficient of skewness.
Weeklywages:  40-60 60-80 80-100 100-120 120-140 140-160 160-180
No. of Workers : 6 10 18 30 15 12 7§

8. Following are the marks obtained by two students Suraj and Dheeraj in ten tests
of 100 marks each :

Tests 1 284 5 B Tom 8 9710
Marks Suraj 40 80 /6 48 "82- Y2 68 66 60 66
obtainedby | Dheeraj 48 75 54 60 63 69 72 51 72 60

Find who is the better scorer and if consistency is the criterion for awarding prize
who should get the prize ?

9. Calculate Mode and Median from the following data.
Xx: 010 1020 2030 30-50 50-70 70-100

f: 5 10 17 40 62 60
10. Compute Fisher’s Ideal Index from the following and show how it satisfies TRT
and FRT.
2012 2013
Commodities Price Quantity Price Quantity
M 8 80 10 110
N 10 20 12 108
O 16 256 20 340
P 20 420 24 456
Q 25 550 32 704
11. Draw less than and more than ogives for the following data.
Salary : 0-40 40-80 80-120 120-160 160-200 200-240 240-280
No. of employees: 9 36 o1 147 87 22 8

Also locate the value of median and verify the answer.
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1 39N CIRRTHTCAR 00 CuR-ZIReTt eugor. B3 D-TI SO oty (5x2=10)

1.

a) sé.ieédsa DOTIBEI ?

b) CSRFTTESR LY ROPROCDR) SR OA.

C) BUBOIR, W08 BRTB 4 WANY), S9R.

d) WIBETT OB 136 B3 08 WRWV CBRTD) ?

e) ©BBOS 20TBe ?

f) RooR0 = 12, RIS 0RO = 13 &SN WGIH WSO PR
g) ROSRTRT OIRRTOTTR VB FIOF TIFR, SR

RN —
1 36N CIRRTRTTR BT BIRR GVB0R. B8 BIT6 oBRD. (3x6=18)
2. 318INTTO0T oG IR JoWROWO.
oned : 50 40 30 20 10
3 : 10 0 12 16
3. IR TERFFOD FoWIRY, B WHTIoD BBREE TorERITT ?
A B
OFIcRosy: 250 200
ROFS, B3ETHRE 500 600
BooR0 don¥ Fow¥ () 20,000 25,000
4. a) CV=40%, d0ra, 8300008 =12, X =7
b) B0k WRBIE = 12, RoR0 = 120 SS Z0oRD WWLNOI FBREIBHRD, ?
5. 89908 Rnte30t0%3 HRFF S DECRCIRL T, LB ABOLTDR 500 SBOD.
03N : 10-20 2030 3040 40-50 5060
dmprnvResy: 15 18 20 o 6
6. DOFR, WRTHVFODR ForBERCR.
g, ! 25 35 45 55 65 75
w3: 28 38 50 45 40 20
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10.

11.

QN — 2

199N ctngtacice Bt e cugon B8 B9314 sosned (3x14=42)
7.

BN D[ORET P RITIOTRR) BoRRCD.
SOTIRO:  40-60 60-80 80100 100-120 120-140 140-160 160-180
3e0ndRosi: 6 10 18 30 15 12 7

B3) wOeén’%ﬁ@ rfaa"%wo @o%ﬁ@ﬁ QT T LPENSD BT Do) Heves® TR eosnsd
ée;féodoéﬁ

Boeg Hoad looBal idab B Wos 0D

IR Reckst 40 80 76 48 52 72 68 5 60 56
eo8ned } Qeces® 48 75 54 60 63 69 72 51 72 &
CIRT LV 0T VGIFOR, TIND WRIRHI DB AOZ 98rRecRts, cIROnR WEdRRS
,%rfoa’cs‘?

B LT B2 03RYeT WRIRIB FoKo ==y =5, BT, TOREHRO0.

X: 0-10 10-20 20-30 30-50 50-70 70- 100
f: 5 10 17 40 62 60

2 39AS TYROOT GRS T3 ng,oﬁdm BORIBOWD. 9T Ber TRT=>3) FRT
“”aeﬁﬁn’#ab 3@7‘3@@:’0@:30&3353& 3003,

2012 2013
Eafaptots 33 atebnd plan) B3 JoIees
M 8 80 10 110
N : 10 90 12 108
0] 16 256 20 340
P 20 420 24 456
Q 25 550 32 704

3 BRUTIT T 0300, 2,080 6ea5*§£od>@ G BB ‘Breor
uﬁewia‘r esc?b wé’d: Clovtold) ), 3% éaa’ab rbdo@w =08 wédaﬁm m’ae&a

oW : 0-40 40-80 80-120 120-160 160-200 200—240 240-280
wegdd®esd: 9 B 91 147 &7 22 8




